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The figures in the margin indicate Jull marks
Jor the questions

1. Answer the following as directed : 1x8=8
'm—afxo"ﬁm'cwﬁtif’ﬂ?ﬁﬁ%mﬁm:
(a) Define indifference curve.
ARCor @R i i o

(b) Slope of the budget line is positive.
(Write True or False)

T (TN T N | (o1 7 ey o)
() When total product is maximum,

marginal product starts declining,
(Write True or False)

QRS 35 Beom A =W, AfdT Beom Zpy
A 4T | (1 ¢ Ty foran)
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(2)

(d) Diminishing MRTS resuits in isoquants
being convex/concave to the origin.
(Choose the correct option)

FRPEE MRTS T @ WA @Y (T3]
oAfS Twe foeT W |
(m Rseon A Shrey)

(e) State briefly the essence of Say’s law
of market.

IEEE 6’7 %I 171 I 503 B w1

() What kind of inflation is caused by
an increase in wages and import
prices?

TR W W W (R Te B oEw
e =@

(g9 In a perfectly competitive market,
average revenue =

(Fill in the blank)
ol TN TS, BT = |

(2T ST =@ )

(h) Adam Smith advocated autarky as

an economic policy.
(Write True or False)

g Py RS IR @@ S A
fapree Reamt s | (o1 ¢ Ry foran)
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2. Answer any six of the following questions :

2x6=12

g RIS R @ 2R e i -

{a) Give two examples of fixed costs.

33 I3 o1 vt foa o

(b) Define expansion path of a firm.
437 2SR STREPTRe <12 Il fora |

(c) Distinguish between average revenue
and marginal revenue.

T I I T SRR &S N for |

(d) Explain the effect of income change
and price change of a good on the
budget line of a consumer.

TSR T (FIH SIS A ARTE AT <51
AR 79 RTETT Ao I 40

(¢ Draw the indifference curves for
perfect  substitutes and  perfect
complements.

s Rew e 7o ARoFs I fFeeers
@Y S 01

() What is normal profit?
FreRe «re 2

{ Turn Over )




()

(4)

State and explain the equation of
exchange.

Rt Resq Ty R I w41

5x4=20

(h) What is the difference between
precautionary motive and speculative
motive of demand for money?

WA R Tefel SiHE WIF  FEAILS
fS2mEy e 1 2

(i) Briefly state the components of Keynes’
aggregate effective demand.

TR PP F2P] SIRAN SRR ST Seaay
w911

() What is comparative advantage in
production?

TRATR AT {4 5 2
3. Answer any four of the following questions :
v oA R e BB s fr
(@) Prove that the marginal rate of
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substitution (MRS) between two goods
is equal to the absolute slope of the
indifference curve and also equal to
the ratio of marginal utilities.

T T A YRy AR RIww as =m
(MRS) f30r% IR SCoif3Fe oo SW Wi
AT SoTAAOR SHATSTI I |

( Continued )

(b)

()

()

(e)
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Explain the following properties : 2%x2=5

TY (@R R 9

(i) Indifference curve slopes from left
to right.

T @ A€TER [/ GiwEa ofe
FEN

(ii) Two indifference curves cannot
intersect.

Yo fASCor® (IR Forb FIRT RIS |

When are L-shaped isoquants obtained?
Explain.
L-S(pfoq STeeomd (Il (IR ¢oRT TW 2
I 0

State and discuss the law of variable
proportions.

RGN wpere RiXGr 5 IR wcem
el

Why is the average revenue curve
under monopoly downward sloping?
Discuss.

GO TEES TS A ([ WA =W [/
AT T |
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() TNlustrate the factors that cause
demand-pull inflation.

s UrRS ikafoe F IRIRR I
9| )
(g) How does Keynes’ theory differ from

the quantity theory as a theory of
demand for money?

@R T og e (TR ouhl AR v
o] fes 9= 7

(h) Discuss the Dbenefits of free
international trade.

& (I A FRATIR SCo1 1 1

4. Answer any two of the following questions :
10x2=20

oo AT R I o Ted fiudt

(a) Explain consumer’s equilibrium with
indifference curves. Also show that price
effect is the sum-total of income and
substitution effects. 5+5=10
e @R e Sorerer SRPI
390 | TS (TS A W UK (YR WA HF
s aorRT iR |

(b)) Explain in detail the laws of returns
to scale. 10

Teo A Afer Ridehr Regeerca
I
( Continued )

(7)

(c) Explain the credit creation process
of commercial banks. How does the
Central Bank influence the capacity of
credit creation by the commercial
banks?

IMEF QT 99 4R afeFast Irw 40
TN RTF AARE @I 49 R FIore
R o RER 332

(d) Discuss the classical theory of full
employment. Examine Keynes’ critique
of the classical theory.

f Rarr e oo sceamwa 91
TAfE oHhR 8/Re (PR SHICABARR
= T

(e) Distinguish between the static and
dynamic gains from trade. Discuss
how trade helps achievement of gains
from consumption and gains from
production.

IR BRI o fRe AreERe TeR 1l
e 911 A9 R Tocer o WS
TRAR TS SO 2R ¢, SCEs I 1
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6+4=10

6+4=10

4+6=10

1 (Sem-3) ECO



